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Part I. Reading Comprehension

INEREY by

Passage 1

If we were to take a date to represent the highest point of
the European'Middle Ages, 1 suppose that date would be
about 1250. Up to that date we see —from about 1050 on-
-wards—only advance. There is growth of population, agricul-
tural revolution, technological advance. The frontiers of
Christendom are pushed forward in all directions; new worlds
are discovered, and also old; there is a sophistication of man-
ners, a revival of letters. New institutions are founded, both
lay and spiritual: on the one hand towns and universities, on
the other new orde_rs of impr_ovi_ng monks and missionary
friars. And mean“)hile within Europe, art and literature are
reviving: barbarian Europe has been captured "by its more cul-
tivated victims, just as barbarian Rome had been fourteen cen-
turies ago. However, as history constantly r_emindé_ us,
“ everything that grows holds ih, perfection .bu_t a . little
moment,” and from about 1300 the decline is obvious.

1. The Middle Ages represerits




A. a dcfinite period of European history
B. the barbarian time of European history
C. the Renaissance of Europe

D. the highest point of European history

2. According to the passage, Christendom most possibly
means

A. the entire body of Christians

B. the part of the world in which Christianity prevails

C. a Christian Kingdom

D. influence oi" Christian Church

3. In this passage, sophistication of manners can be fcplaced
by '

¥

A. combination of different living styles

B. combination of different working ways
C. coordination of various professions

D. complex of artistic exccution methods

4. Which of the following can exactly express the meaning of
both lay and spiritual
A. urban and rural
B. civil and military
c. tcmporal and rcligious
' D. physical and mental

5. In this passage, “holds in perfection ” means
A. restrains perfection
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B. enjoys perfection
C. reaches perfection
D. controls perfection

Passage 2

Although most men in sixteenth—century England earned
their living on the land, cultivating the soil or raising sheep and
cattle, trade at home and abroad was growing. The wool trade
with Flanders was the most important activity; the capital it
provided financed other ventures organized and controlled by
English merchants. Such control was a relatively new
thing. Prior to the sixtecenth century the English carrying trade
had been monopolized by the Venctians on the one side and
the Hanseatic League on the others. England was then the
commercial outpost of Europe. But with the “discovery” of
the Atlantic Occan and the New World beyond, “the outpost
of the Old World became the emporiufn for the ncw.” For of
all the modern nations of western Europe, England is the one
most dependent upon commerce for progress, the one which is
most clearly the result of, and the one whose history is most
clearly determined by, the insularity of the country and its po-
sition at the crossroads of world trade. Englishmen were aware
of the sudden expansion of British commerce and gloricd in it.

1. In sixteenth century, most Englishmen lived on



A. raising sheep and cattle
B. cultivating the soil

C. theland

D. trade at home and abroad

2. Itcan beinferred from the passage that Flanders was
A. acountry
B. acity
C. anation
D. aregion

3. Before sixteenth century the English carrying trade was
controlled by

A. English merchants

B. Venetians

C. Hanseatic League

D. bothBand C

4. Which of the following cxpresses the implication of the
sentence “ the outpest of the Old World became the
emporium for the new.”

A. The position of England became less important.

B. The position of England becéme more important.’

C. England became the commercial centre of Europe.
D. England goods prevailed over other countries’ goods.

5. Why is England so dépéndcn]. ‘upon commerce for
progress?
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A. Begause England is a small country.

B. Because England is a high—developed industrial coun—
try.

C. Because England is an island country and its location
is just at the crossroads of world trade.

D. Because England is short of natural resources.

Passage 3

If Moscow is New York, Kiev is San Francisco: brighter
and gentler, without self—conscious pretense. It feels good to
walk in Kiev. OIf the main stem, Kreshchatyk, chestnut trees
shade stately buildings that survived the war.

To their credit the city fathers have lavished gold leaf, a
tsars fortune of *it, upon ncarly all the domes that rise over
former religious structures. Functioning thurches have.their
gilt as well. The government scems to treasure what is
left: gaudily baroque St. Andrcw, ancient St.Sophia, the vast
monastery called Pecherska lavra, ‘and others. They are the es-
sence of Kiev. They are also,’ in their emptiness, very sterile. I
also give the city good marks for the graccful way it is trans-
forming its old quarter by the river, the Podol. A moldy as-
sortment of warchouses, factory buildings, and flats will soon
look grand. Buildings with ar;:h_itcctu'rall valﬁe arc being reno-
vated; those without are being supblanted by low abartment
buildings, styled to blend with the old. g

_s_..



1. From author’s tone we know that Kiev can be compared
with San Francisco in respect of

A. architecture

B. population size

C. geographic position

D. urban style and features

2. In this passage, the word fathers means
A. ancestors
B. old people
C. priests
D. mayors

3. Which color dominates the religious buildings in Kiev?
A. yellow
B. gold
C. green
D. grey

4. The passsage states that the government
A. is renovating historic relics
B. is emptying churches and monasteries
C. is pulling down the old houses
D. is transforming city’s old quarter

5. Which of the following statements is ture?
A. In Kiev, there is a striking contrast between new and

old houses.
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B. In Kiev, the government doesn’t pay attention to mu—
nicipal works. :
C. In Kiev, new houses match the old ones. ..
D. In Kicv, new houses are supplanting the old ones
without any limitation.

Passage 4

The only fruit with such bright green flesh, the kiwifruit is
one of just a handful of food plants domesticated within the
past thousand ycars. Originating in the Yangtze Valley, it has
long been a favorite of the Chinese, glorificd in poetry, as ear-
iy as the cighth écntury. Chincse peasants still gather thc wild
fruit for sale in rural markets. The transformation of a
small, hard, and wild Chinese berry into flcshie , tastier

" kiwifruit began about 1904, when traveler returned from a
China visit with seeds for Alexander Allison, a nurseryman on
New Zcaland’s North Island. In the following three decades he
and other gardencrs developed superior kiwifruit vines through
carcful sclection, pruning, and grafting. Most of these early
fanciers were as-much intercsted in the vines showy white blos-
soms and attractivc fan—shaped - leaves ‘as in its
berrics. Kiwifruit farming got its commercial start in the
1930’s, most successfully at Te Puke on the North Island’s east
coast. The late James Macloughlin became the father of the
modern kiwifruit and ultimately a millionaire—by chance.

-_— —



1. The passage states that kiwifruit. was domesticated
primarily by

A. Chinese

B. New Zealander

C. Japanese

D. German

2. Weknow from the passage that kiwifruit is
A. avine
~B. aherb
" C. awoody plant
D. a parasitic plant

3. According to the passage, people began to cultivate
kiwifruit with - '

A. roots

‘B. vines

C. leaves

D. sceds

4. From a wild plant to a profitable fruit, approximately how
many years did people spend for developing kiwifruit? '
iA. Thousand years. |
B. Hundred years. : .
C. Thirty years.
D. Sixty years. -

5. Which ‘Aof tlie fblio“}ing can exactl} express the meaning of

_8.—.



pruning and grafting in this passage?

A. Cutting branches and joining shoots
B. Ploughing dcep and transplanting
C. Fertilizing and climinating

D. Selecting and irrigating

Passage 5

One of the last lands on earth to be inhabited by
man, New Zcaland was settled by seagoing Polynesians per-
‘haps 1,000 years before Dutchman Abel Tasman arriw}cd
in 1642. Later James Cook claimed it for Britain and mar-
veled at the islands’ many indigenous specics, which include a
flightless bird called the Kiwi—now a nickname for citizens.
Despite their historical role-as sheep farmers, 84 percent of
todays’ Kiwis live in urban—suburban areas; one in seven is
Polynesian. Rising crime, povérty and unemployment hamper
government plans to strcamline an elaborate welfare state. The
South island has only a fouth .of . New. Zealand’s
population. But it’s not a rat race down here. A lot of us
would rever think of moving. If y&u’fé’"yduhg though, and
want to get on—more moncy, a better future—well, you’ll join
the drift north. '

Scottish—born Dunedin, hub of a rich farming rcgic;h and
a port, ranks as the country’s most important ‘uniy‘ersity
center. The name is Gacelic for Edinbdrgh; ﬁuncdin is called
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“the Edinburgh of the South.” It was settled by Presbyterians
in 1848.

1.

In which century people began to settle down in New

Zealand?

.

4.

A. 17th century
B. 7th century
C. 16th century
D. 6th century

The author of this passage is most probably
A. aDutchman
B. a Polynesian

"C. a Briton

D. a Ncw Zealander

It can be.infercd frpm the passage that Ne\v Zealand is,
A. adevcloped country

B. adevcloping country

C. acolonial country

D. a scmi—colonial country

As used in the passage, the phrase rat race mos? probably

means

A. tribe

B. frequent moving
C. keen compeuuon
D. contcst in speod



5. From the passage, we can most safely guess .that
Edinburgh is a city'in

A. Scotland

B. England

C. New Zealand

D. Holland

Passage 6

For years Ukrainians fled farm drudgery. Two—thirds
lived on farms in 1940; its’ one—third now. Factorics were
glad to get these transplants; because of the terrible losses from
famine in the 1930’s, World War II and the low birthrate,
labor was in short supply.

To stanch the farm outflow, policymakers improved
wages and housing. Vitaly earns as much as a factory worker
and lives in a three—bedroom home. Many city dwellers now

look enviously at their rural cousins.
; With 20,000 acres of land, 500 cattle, and 17,000 pigs,
the Lenin Collective Farm near the city of Poltava in eastern
Ukraine is a big producer: pork, milk, sugar beets, buck—
wheat, fruit, Chairman Ivan Ropavka runs it by radio when
driving his Volga automobile. He told me: “ Ten or fifteen
years ago it took 1,200 pcople to work this farm. Today we
have 734 working. One person used to milk eight or ten
cows, now it’s 35 or 40 with machines.” Mechanization is
s il o



still below Western standards, however. Some of the harvest is

lost to primitive storage and transport facilities.

1. The decrease of farming population in Ukraine implied

that
A.
B.
C.

D.

people disliked hard work on farms

factorics necded labor force urgently

consequences of famine and World War II were too
scrious

living standard in rural area was too low

2. According to the passage, now farm workers ,

A.

B.
)
D.

live better than factory workers

and factory workers cnjoy the same living level

enjoy roomier dwelling—houses than factory workers
want to conform their free time .entertair_xments to
those of factory workers

3. The passage states that

A.
B.
. o

;D

less and lcss workers are busy on farms

more and more workers are busy on farms

morc and more machines are supplimfing human
labour on farms — : ;

human labour on farms has been canceled

4. Which of the following conclusions docs the passage sup-

port?
A.

Ukraine ' is known. as a melting - pot:-of diffcrent
cultures. :



